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Arithmetic Sequences and Series Date Period

Determine if the sequence is arithmetic. Ifitis, find the common difference, the S2nd term, the
explicit formula, and the three terms in the sequence after the last one given.

1) 13, 15,17, 19, .. 2)4,7,12,19,..

4) 34, 28, 22, 16, ...
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iven lhe explicit formula for Tn.a.r.ll.hmg;ig se?uﬁnce find the common difference, the term
named in the problem, and the|recursive formula,

5) a =17 +8n d- &

Finda, )

Agq =\ + 8(39)

sequence find the common difference, the explicit formula, and

the recursive formula.

7) a, =110 and a, =370 8) a,=14 and a,=122

Find the missing terms in each arithmetic sequence.
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Evaluate the re]auf each sequence.

11y 3.7, 4.6, 5.5, 6.4

Evaluate each arithmclidm ribed.
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12) 26, 36, 46, 56, 66, 76, 86
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Determing the number of terms n in each agied icyseries,
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Arithmetic Sequences and Series Date Period

Determine if the sequence is arithmetie. IT it is, find the common difference, the 52nd term, the
explicit formula, and the three terms in the sequence after the last one given.

1) 13, 15,17, 19, ... 24,7, 12,19,..
Common Difference: d =2 Not arithmetic
Next 3 terms: 21, 23, 25
a_=118

Explicita =11 + 2n

7 | 4) 34, 28, 22, 16, ...
3:2; i—, 3, E, ... Common Difference: d =— )3

2
. = Common Difference: d = 6
Next 3 terms: 4, —. § Next 3 terms: 10, 4, -2
- a_=-272
55 "y
g S Explicit: a =40 —6n
! & =]
Explicit:a =+ _n
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Given the explicit formula for an arithmetic sequence find the common difference, the term
named in the problem, and the recursive formula.

5)a=17+8 5 3
) a e 6) a =- % ot %n Common Difference: d =

Finda,
= ) Find a,, 61
Common Difference: d =8 : @y, =7
a.=329 Z
% ) ) 3
Recursive:a =a  +8 Recursive:a =a 4 -

‘{: =25 a = -]

Given two terms in an arithmetic sequence find the common difference, the explicit formula, and
the recursive formula.

7) a, =110 and a, =370 8) a,=14 and a,=122
Common Difference: d =10 Common Difference: d = 4
Explicit: a_=10n Explicit: @ = -26 + 4n
Recursive:a =a _ +10 Recursive:a =a _ +4

a =10 a =-22
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Find the missing terms in each arithmetic sequence.
10) ..., 3.4, . P S

1
—— T 1.6, -0.2
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Evaluate the related series of each sequence.

11) 3.7, 4.6, 5.5, 6.4
20.2

Evaluate each arithmetic series described.

13) a =z, d:l—, n=>50
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15) a, =20, a =55, n=6

17) 3.

19) 2(?»:42}
m=1

3990
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21) Z (0.8i -6.3)

13.5

12) 26, 36, 46, 56, 66, 76, 86

392

14) @ =-22, d=-3, n=12

-462

16) a, =14, a =86, n=10

300

18) 2. (7n-17)

162

22) Z (2n-7)

w=4d

2500

Determine the number of terms o in each arithmetic series.
24) 18+21 +24 +27..., §, =468

23) 1 +(-2)+(-5) +(-8).., §,=-259
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